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CD:GH=CD:16=1:2

. CD=8 (cm)

. (JABCD ¢} £8)9} do)=2x(6+8)
=28 (cm)

BC:FG=6:FG=1:2

.. FG=12 (cm)
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DE 7/ AC0I22 ADBE »wAABCO[L, & Ao
Hl= 3 40ICk
MR & ARZIMO| Holo] Hi= 3% : 42 =9: 160|122
ADBE:8=9:16

. ADBE = 9

5 (cm?)
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51) =4, y=4
X GJt AABCO RAEAMOIDZ
AG: GQ=2: 1014
8:x=2:1 Sox=4
T, ® Q= BCY EX0/22 BQ=6 (cm)oICk.
PG 7 BQoI=E2
AQ: AG=BQ: PG
12:8=6:y  ..y=4
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Azigio] =8 o1 Fa|ofl Qlotod
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EH=7 (cm), FG=7 (cm)
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AP:PC=4:8=1:2

AABCHM AB 7 PQoIg2
AC: PC=AB:PQ
3:2=4:PQ .'.Png(cm)
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M 0I5 B0l we O &2 T30l XIZ9 Z0lQl It
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022 2mo| Hi= 4%:3%:2° =64:27:8
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(2BHo] X|=0| Z0I7F 40 cm@! H0[32] FH)
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64) = ®
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65) 2 @
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/__ —:z p—
G'= 3><GD 3><6 4 (cm)
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BC 7 DEo|22
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22 : 3% =4:90/02
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R IS A9 20t 60 cm®0/22
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70) & 1—25 cm
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4:6=2:FE . FE=3 (cm)
ACABOU AB 7 DE 0|22
CD:DA=CE: BE
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AABDOIM ® E= ABO Z20id EP 7 AD 0|92 a2t
wo| =X o1 a0l ovld & P= BD 9 ZHOICL

— 11— 1

AACDOIM & F= DCO 011 QF 7 AD 0|22 A2t
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© Aol =M oz == o ool
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2
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72) B0| &x
BC@ FGE [Ig0k= 80|12z
T AR2RHO| E8Hl=
BC:FG=4:6=2:3 -

MR & ARREOl Holo] Hi=
22:32=4:9
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[JABCDO S0t 12 cm?0|122
12: JEFGH=4:9 = (3
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73) B0l X
AODA AOBCOIM AD 7 BColEZ
2AO0D = 2BOC
20AD = 20CB

S AODAAOBC - O

[, F ARREO| HStl=

AD:BC=8:12=2:3
M2 & AZIO| H010] His
22:3=4:9
AOBCY 07t 36 cm?0/22
AODA:36=4:9 L N0
2d AODAQ| 0l= 16 cm®0ICt <= B

-2

-

D S = AZBS FH=r} 3%
e | @ F M7iEel wguIE TE, 35
Rl EEy=prErryr T e — 3%

@ Solo] IS 0|83t Alg MLt o
g 757 | ® AODA o gojz Tstc} 27
74) E0| 3%
AGBC2 AGEDOIM
E: @: 2:1
E: G—DZ 2:1
/BGC=2DGE
0ez2 AGBCwAGEDOILL o= (D
I, & Aol setl= BG: GE=2:1 -Q
0ld, 5 afZRE9l Holol Hi=
22:1%2=4:10ICH = (3

AGEDY| 507t 6 cm*0122 AGBC:6=4:1
R AGBCQ Hol= 24 cm*0ICt 4= @
BG: GE=2:10128 AGBC: AEGC=2:1
24: AEGC=2:1
. AEGC =12 (em?) -
g4 AEBC =24+12=236 (cm?)01,



AE= CE0/22 AABE = AEBC =36 (cm?)0ICH
AABC = AABE + AEBCOI

2

AABC=36+36=172 (cm*®) <= ®

O @2 F o488 se=rt 3

@ £ 70| sigHIS T 27
iz e | ® F Mo Holo| HIE Fsict. 24

@ AGBCO| 0|2 F&lC}, 23

(5 AEBC2| H0|E Fsict, 3d
= ©® AABCO| H0|E sict, 3d

75) OIEE

Ul A0l 2ot ARfE
O Tt AHE Hl LOIK
Jgo=z Jd3 g 1
B 205 M AEe 2
0l 811 o N&Q 20l

el 3
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u]. 29

S0z Amy JeRl
MRS NRER0ICH HLIDIN DISms WAt ACHIZ0|
2H e 4 NP MARIE0IRHD T 4 it
76) 4 (em)
o= IJEWM AQ/RP, R
AR/QPo2 [JAQPR= 9/ \i
O R0/,
AC= AB=14 (cm), : j
AR=QP=10 (cm) B P c
- RC=AC—AR=14—-10=4 (cm)
ot AB /RP 0|22
/B=/RPC (89R) - ©
AB=ACO0EE /B=/,C - 0)
@ @ERH <RPC= 2Col2g
RP=RC=4 (cm)

14cm

77) 20| &%
[Jh] mesners ABCDOIM £ BAC = 2DAC
[z=] (JABCDE D=2
[zm] AD 7 BCol22
/BCA= /DAC (92) - ®
/BAC = 2DAC (Of) - @
@ @4 2BAC = /BCAOI2Z
ABCAE 0ISERIZIEO0ICE
M2pd AB= BC 01, [JABCD 7t BaiAjieio| o2
4l g0 2000t 25 20pd [JABCD = D220t St

78) 3cm
Q== J2i4 AB 7/ CDo|2Z
AOCD = ABCD
. (5JHE OCDel ol)

— (Mot B10] 0))

=57 (ecm?)

O, @ CDO| Z0l= ¥ 029 |9l 209 %OIEE Tl ol
H0l= £XHE OCD9l s 01°] 6HHOICE.
(2 09 H0)= 6 %w
=97 (cm?)

[ & O9f EIXIECl Z0l= 3 cmoOIC.

79) 48 (cm?)

LIAPQDOIM A R _ D
AP /DQ, AP=DQ m
s Q
L ol | {HS0|C

T B C

. AD /PQ

[y ABAROIMY B3 ¢ 2I0l 20104 & S= RBOl &
HoILt.
o ST / BCOI22 ARSTwARBCOIL & %2 A2t
0| Sistl= RS:RB=1:2
M ARST: ARBC =12:22 =1:4001
ARST =6 cm*0|22

ARBC =6x4=24 (cm?)

. JABCD=2ARBC=48 (cm?)

80) (1) 80° (2 5:3
(1) (JABCD A JEBFGoOIE2 /BFG=~C

. /BFG =80°
2 BC:BF=25:15=5:3
2Py [JABCD 9 [JEBFGO| S=Hi= 5 : 30ICk

81) 20| &X
(1) AABCooAAED
= & Wo| [IS0K= 2o P 242 2Lk
2) AABC»AEDC
= & Mo| [§20l= O] Z0Io] Y 22, 1 MIRiziel )|
It 2L
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(3) AABC»ACBD

= M| 49| Lig0k= ol 2019l HIJt 2Lt

82) =6, y==6

AABES ACDEOIM
/BAE = #DCE, 2AEB= 2CED

0122 AABE«ACDEOIL, Setl=
AB: CD=10:15=2: 30IC}.

BE: ED=2:30[1, EF #DCo0|22
E:EZQ:& ES BF:BC=2:5
r:15=2:5 S.x=6

%, EF: DC= BF: BCo|=22
y:15=2:5  ..y=6

83) 15 (cm)
ACt EF 9t oiLt= &2 G2t ot
AABCOIM & E= AB2| 301
EG 7 BColoz

A l0em_ _p

E: lﬁ: 10 (cm) B -""'-20cm .

AACDOM & F= CD9 Z=x0/1 AD 7 GFol2g
GF= EEZ 5 (cm)

. EF=EG+GF=10+5=15 (cm)

84) 36 (cm?)
EF /BCo0|22
AGDC = AFDC
. AGDC =6 (cm?)
AG:GD=2:10|22
ANAGC: AGDC=2:1
NAGC:6=2:1
. AAGC =12 (ecm?)
. AADC= AAGC+ AGDC
=18 (cm?)
%, BD=CD0/22 AABD = AADC
. AABD =18 (cm?)
. AABC= AABD + AADC
=36 (cm?)

85) 30 (cm?)

28

Q== J2lM ACQ BDO
1% 2 Ratl oi [JABCDE

mon 022 ACQ BDE
M= OE RE 0ISECIC M2
AR=CR, BR=DR=6 (cm)0ILL.
M P= AABCY fHEA0IEZ

BP :PR=2:1

. ﬁzﬁx%:zl (cm),

ﬁ=6><%:2 (cm)
H Q= AACDO ZH=M0IEZ
DQ : QRZ 2:1

. ﬁ=6><§:4 (cm),

@=6><%z2 (cm)

e PQ= PR+ QR=4 (cm)o0l1,
BP=PQ=QDol=z
AABD=3AABP =30 (cm?)

86) 48 (m)
AABCOM AC 7 DEo0|Z2

BE :BC=DE :AC
7:42=8:AC .. AC=48 (m)

87) 4:1
ANABCS AAEDOIM

£LAED = 4B, ZAEe
0152 AABCAAEDOI,

AB :AE=8:4=2:1
IR AABCS AAEDQ S019) Hi= 22:12=4:1

IS0l 2

CISH |b
=10

88) 6250%!
O 2 Z0120l StV 3: 50/22 RO Hi=
3% :5%=27:125
ze ZON 22! 2249/ JI20| 135080|92
1350 : (2 010 Y2 2849 J1) =27:125
MEpd 2 S0IZ0 =21 2849| J12 6250 OICk.

1
b
0|->|



